Svenska Bridgeférbundet
Simultan Dagtid 2017-02-27

Partavling, 57 bord, 111 par. Antal brickor: 24. Medel: 1271.6. Frirond (*) ger egen procent.

Plac Par
1 B45
2 C1
3 D22
4  All
5 E3
6 Cc2
7 D12
8 E8
9 E10

10 E14
11 Al5
12 Fi14
13 G8
14 G4
15 C16
16 Al7
17 D19
18 B48
19 F5
20 B41
21 Al4
22 Di4
23 B34
24 C8
25 Al8
26 E7
27 A2
28 Al
29 F13
30 B44
31 EI12
32 D17
33 B49
34 G10
35 D21
36 F12
37 B46
38 C9
39 D5
40 F6
41 B39
42 C15
43 E9
44  F10
45 A4
46 Al6
a7 D7
48 D18
49 F9
50 E4
51 C3
52 A9
53 D4
54 B36
55 D11
56 EIl1
57 D16
58 G3
59 Ci14
60 Fl1
61 B33
62 C6
63 D15
64 B47
65 B32
66 B3l
67 D20
68 F4
69 Al3
70 D6
71 F2
72 G2
73 G5
74  G6
75 D10
76 Gl
77 B38
78 C5
79 C4
80 G9
81 A7
82 A6
83 Cc7
84 A5
85 Cil1

Poang

1859.0
1671.3
1649.8
1636.7
1618.5
1605.6
1600.9
1574.2
1573.4
1568.9
1557.0
1529.2
1528.8
1527.0
1524.8
1493.7
1490.8
1486.5
1478.9
1475.4
1468.8
1467.0
1455.1
1453.7
1453.0
1444.5
1441.6
1438.5
1435.4
1431.2
1423.4
1421.4
1420.2
1418.2
1416.3
1404.0
1393.8
1392.1
1391.8
1391.6
1389.5
1385.7
1384.6
1383.6
1378.5
1360.5
1359.7
1356.8
1349.4
1348.3
1344.5
1337.1
1335.9
1295.2
1293.1
1290.8
1287.5
1285.8
1280.3
1280.3
1279.7
1264.2
1258.9
1236.4
1233.8
1228.2
1223.5
1215.3
1211.9
1208.8
1206.1
1203.8
1196.4
1192.9
1185.3
1170.1
1154.2
1150.3
1145.5
1129.4
1128.4
1124.5
1122.6
1104.4
1102.3

%

73.07
65.70
64.85
64.34
63.62
63.11
62.93
61.88
61.85
61.67
61.20
60.11
60.10
60.02
59.94
58.72
58.60
58.43
58.13
57.99
57.73
57.67
57.20
57.14
57.12
56.78
56.67
56.54
56.42
56.26
55.95
55.87
55.83
55.75
55.67
55.19
54.79
54.72
54.71
54.70
54.62
54.47
54.42
54.39
54.19
53.48
53.45
53.33
53.04
53.00
52.85
52.56
52.51
50.91
50.83
50.74
50.61
50.54
50.33
50.33
50.30
49.69
49.49
48.60
48.50
48.28
48.09
47.77
47.64
47.52
47.41
47.32
47.03
46.89
46.59
45.99
45.37
45.22
45.03
44.40
44.36
44.20
44.13
43.41
43.33

Namn

Lars Becklén - Kjell Ake Nilsson

Kersti Belin - Lars Snibb

Gosta Stenberg - Sigvard Eriksson
Bodil Wikstréom - Niusia Lichtman
Anders Eriksson - Rolf Bystrom

Gote Hagberg - Bjorn Albihn

Jan Johansson - Anders Sveningsson
Torsten Victorin - Lars Hedstrom

Hans Norling - Bo Gullefors

Kerstin Béck - Lena Voergaard
Marianne Servin - Ulla Oberg

Ulla Winblad - Tommy Winblad
Lennart Emanuelsson - Lars Olson
Sture Mattsson - Rolf Larsson

Brita Belin - Margit Eriksson

Mari Segerberg - Kerstin Boberg
Christer Svensson - Kenneth Andersson
Jan-Erik Ohlsson - UIf Andersson
Roger Magnusson - Britt Magnusson
Eva Landin - Gunilla Oredsson

Hanna Lewandowski - Andrzej Cybulski
Hans Davidsson - IngaBritt Martensson
Hans Henrik Ramel - Leif Rosenblad
Ake Petters - Peter Lindholm
Anna-Greta Fristedt - Margareta Thorsen
Kerstin Wallin - Géran Schmidt

UIf Schjanberg - Ulla Wastberg
Thomas Alander - Christina Kronlund
Rolf Sdderberg - Leif Mattsson

Rolf Jénsson - Hans Ryning

Ivar Fredriksson - Karin Zerrander
Margareta Lundstrdm - Christer Andersson
Alf Roos - Claudia Sjoberg

Hans Malmstrém - Bo Kippel

Ingrid Sandgren - Arne Johansson
Dennis Malmstrom - Agne Gardehed
Gunlis Aberg - Jane Girdo

Kjell Lundgvist - Janne Magnusson
Mats Gunnarsson - Rolf Bengtsson
Leif Andersson - Inger Andersson
Helen Roos - Bo Wendt

Janne Blohm - Borje Jernberg,

Lars Jacobsson - Bjorn-Olov Odlund
Hans Grundel - Margareta Grundel
Susanne Ramel - Grete Derand
Anders Nordberg - Maj-Britt Nordberg

Karl-Erik Ljunggren - Bo-Gdran Alexandersson

Jorgen Ingvarsson - Lars-Géran Stenberg
Eva Skoglund - Gunnar Skoglund
Martha Carlsson - Vivianne Wernblom
Birgitta Wigstrom - Sverker Berglund
Jane Brandemar - Judit Derzsi-Jalgard
Leif Lysebring - Per Emilsson
Margareta Levinsohn - Barbro Fahl
Berit Theorin - Per Lundstrom

Marja Ritzén - Kerstin Hamlund
Gun-Mari Bogvist - Sune Martinsson
Gert Sjunnesson - Richard Tham
Staffan Rénnegard - Erik Nyberg

Gun Nilsson - Britt-Marie Nilsson

Goran Mattsson - Marie-Louise Mattsson
Gunilla Karis - Rune Karis

Bengt Stderstedt - Kjell Martinsson
Mona Andersson - Gun Jensen-Carlén
Stig Unoson - Bjorn Klefoohm

Lars Lindvall - Elisabeth Lindvall
Svenne Gustavsson - Jan Samuelsson
Carl-E Johansson - Margot Johansson
Ann Christin Axman - Hanna Séderberg
Esko Nylén - Eva Karlsson

Marianne Bjarneskans - Lars Bjarneskans
Gun Karlsson - Maud Kylinger

Siw Karlsson - Ulla Gustavsson
Kenneth Géallman - Lennart Linnerstedt
Kent Johansson - Ingvar Johansson
Bertil Andersson - Bernt Carlsson
Gun-Lis Ohlsson - Gull-Lis Andersson
Ingela Mille - Hans Séderstrém

Bertil Sandberg - Kerstin Laurin

Evert Johansson - Bent Castella
Margaretha Olsson - Géran Ekelund
Agneta Johansson - Fredrik Bonde

Dan Elmhager - Sven Olof Gronlund
Helena Cewers - Helen Lundin

Birgitta Forsell Nasman - Arthur Narvin

MID

80419
42401
36388
11758
21260
8057
49914
57031
3467
8300
48631
37624
1318
1503
26339
45646
7377
2756
23121
86141
91156
57670
55085
62520
90920
46448
4578
28168
39862
43205
33352
48288
92856
6354
47996
33343
33694
19342
9495
9905
46648
46991
88169
39955
33668
56171
26172
1643
87656
41106
53787
55146
10391
61527
57669
31389
49465
47447
62285
37630
30649
34464
54272
27760
83337
45057
46105
30970
55084
46710
54876
1201
1963
32688
18003
11916
4532
39315
8054
1570
35193
4760
57907
34197
93503

14638
27843
10410
4596
3459
61263
61561
58479
36345
14211
45490
39863
9206
1172
39316
46649
43554
13590
23120
30714
499
57668
57848
62093
15692
44842
16041
28157
1808
45407
46706
48289
55585
1178
19454
2571
94114
88297
12597
16267
4608
50665
46449
39954
25475
13234
82813
48706
87658
18495
62286
52692
53498
61528
82731
84923
48291
37233
62311
37629
30650
39124
59126
90067
80113
45058
49466
30971
52486
88152
54875
31298
6118
1317
46711
29381
4530
45111
93468
92483
26627
44473
62283
28327
19340

Klubb

Malmo BK - Staffanstorps BK
Insjons BK

Smalandsstenars BK

BK Bridgehuset

Solleftea BK

Insjons BK

Smalandsstenars BK - Anderstorps BK
Sollefted BK

Sollefted BK

Sollefted BK

BK Bridgehuset

Vaddo BK

Filbyter Bridge

Ljungsbro BK

Insjons BK

BK Bridgehuset

Kinnareds BK

BK Bridgehuset

vaddo BK

Ellstorps BK - BK Bridgehuset
BK Bridgehuset - Lunds BK
Smalandsstenars BK

BK Bridgehuset

Leksands BS

BS Oden - Malmd Dam BK
Sollefted BK

BK Bridgehuset
Uppsalabridgen

Vaddo BK

Malmo BK

Sollefted BK
Smalandsstenars BK

Lunds BK

Filbyter Bridge

Gislaveds BK - Anderstorps BK
Rimbo BK - Vaddo BK
Malmé BK

Leksands BS - Insjons BK
Atrans BK

Vaddo BK

BK Bridgehuset

Leksands BS - Insjons BK
Sollefted BK

Vaddo BK

BK Bridgehuset

BK Bridgehuset
Smalandsstenars BK
Kinnareds BK - Smalandsstenars BK
Vaddo BK

Sollefted BK

Leksands BS

BK Bridgehuset

Varnamo BK - Anderstorps BK
BK Bridgehuset
Smalandsstenars BK
Sollefted BK
Smalandsstenars BK

Filbyter Bridge

Leksands BS

Vaddo BK

BK Bridgehuset

Insjons BK

Smalandsstenars BK

BK Bridgehuset

BK Bridgehuset

Pri-Bri 1936
Smalandsstenars BK

Vaddo BK

BK Bridgehuset
Smalandsstenars BK - Gislaveds BK
Vaddo BK

Filbyter Bridge

Filbyter Bridge - Ljungsbro BK
Filbyter Bridge
Smalandsstenars BK

Filbyter Bridge

BK Bridgehuset

Insjons BK

Insjons BK

Ljungsbro BK

BK Bridgehuset

Pri-Bri 1936 - BK Bridgehuset
Insjons BK - Leksands BS
Lunds BK - BK Bridgehuset
Insjons BK
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86 E6 1095.2 43.05 Seth Carlsson - Kjell Vestin 46439 49439 Sollefted BK
87 G7 1067.6 41.97 ke Karlsson - Ragnar Jansson 1176 1559 Filbyter Bridge
88 B50 1066.3 41.92 Birgit Hartman - Elsa Olsson 21930 28836 BK Bridgehuset
89 F3 1063.2 41.79 Maths Mattsson - Britt Mattsson 13022 16671 Vaddo BK
90 D9 1053.8 41.42 Ragnar Fahlén - Sven-Erik Larsson 36391 36403 Smalandsstenars BK - Kinnareds BK
91 B40 1048.3 41.21 Willy Landgren - Bibi J6nsson 13541 49337 BS Oden
92 D13 1038.8 40.83 Lars Larsson - leif LUhr 36401 49559 Smalandsstenars BK
93 F7 1036.4 40.74 Goran Henriksson - Lillemor Henriksson 37608 37609 Vvaddo BK
94 A8 1033.6 40.63 Britta-Lena Rundcrantz - Berit Kallstenius 29167 33667 BS Oden - BK Bridgehuset
95 D2 1027.9 40.41 Lilian Nilsson - Rigmor Gunnarsson 53704 49586 Smalandsstenars BK
96 F1 1023.3 40.22 Kurt Johansson - Karin Bjérkman 37627 39909 Vaddo BK
97 Al10 990.5 38.93 Marianne Wastberg - Irma Romare 14229 11339 Malmd BK
98 F8 968.9 38.09 Bernd Danner - Christina Danner 37610 37611 VAaddo BK
99 B42 962.5 37.83 Ingegerd Jeppsson - Monica Borg 41945 27985 BK Bridgehuset - BS Oden
100 E2 955.2 37.55 Elisabeth Olsve - Margita Eriksson 49436 53069 Solleftea BK
101 A3 950.5 37.36 Carin Millar - Lisa Camp 80518 45648 BK Bridgehuset - Hollvikens BK
102 E13 940.5 36.97 Ragnar Granlund - Britt-Marie Granlund 63210 63208 Solleftea BK
103 D3 9149 3596 Lennart Heljemo - Lars Danielsson 49467 49460 Smalandsstenars BK
104 B35 899.2 35.35 Sven Grahn - Wiveca Lindstrom 44670 44674 Pri-Bri 1936
105 C13 878.6 34.54 Karin Stélberg - Karin Nordqvist 16571 47068 Insjons BK - Leksands BS
106 E5 869.5 34.18 Marianne Wasend - Ingel Sehlen 54851 58054 Sollefted BK
107 D8 8325 32.72 SivSandblad - Gerd Lundberg 54273 54364 Smalandsstenars BK
108 Al12 786.7 30.92 Karin Ringsberg - Tina Arvidsson 45416 45417 BK Bridgehuset
109 B37 763.7 30.02 Majvie Harstedt - Kerstin Harstedt 54206 54207 Malmo BK
110 C10 738.3 29.02 Inger Taflin - Gunnie Broms 55152 34465 Insjons BK - Leksands BS
111 E1  721.0 28.34 Gunhild Hamberg - Elisabet Vestin 63207 63204 Sollefted BK
1 4 D109 Basta kontrakt 2 » E862 Basta kontrakt 3 4 DKn875 Basta kontrakt
Nord v Kn7653 5¢v N =450 Ost vD3 2NT V =-120 Syd vD94 ANT V =-630
Ingen +96 NS ¢+ E8 ov + K42
#1085 & ¢ v & NT #D10762 & ¢ v & NT £104 & ¢ v & NT
454 4 Kn872 N9 5 119 7 4K1054 & DKn9 N6 7 45 4 4E943 &K N2 3553
v42 vD8 S 95 119 7 vEK1096 v875 S 67 454 vE76 v K102 S 23553
¢ EK10872 ¢ DKn54 038233 +10 ¢ KD32 075887 +E6 ¢ D1095 O 119 8 8 10
#Kn92 «KD4 V38233 #EKn5 2943 V7682838 #DKn73 #K9652 vV 119 8 8 10
» EK63 473 41062
v EK109 v Kn42 v Kn853
+3 + Kn97654 + Kn873
*E763 *K8 »E8
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr ut Res Poéng
F2 F5 44DS= ¢2 590 106.0 0.0|{A10 A5 3v V-2 +A 100 105.0 1.0| Al Al12 4v V-3 «Q 300 106.0 0.0
E3 E11 5¢DV-3 v5 500 1040 20(A18 A4 3v V-2 +A 100 1050 10| D9 D16 3NV-2 &5 200 1040 20
E2 E5 4v S+1 ¢A 450 97.0 90| G2 G4 3vV-1 ¢A 50 940 120( D2 D13 5#V-1 48 100 99.0 7.0
C3 C5 4v S+1 ¢A 450 97.0 9.0 G3 G6 4v V-1 ¢A 50 94.0 12.0|A16 A7 3NV-1 &7 100 99.0 7.0
A6 Al6 4y N+1 ¢4 450 97.0 90| F4 F6 3vV-1 +A 50 94.0 12.0|B41 B48 3NV-1 48 100 99.0 7.0
A9 Al7 4y N+1 ¢Q 450 97.0 9.0 A9 Al7 3v V-1 &7 50 940 12.0(B44 B37 3NV-1 ¥4 100 99.0 7.0
B41 B33 4y S+1 ¢A 450 97.0 9.0(F13 F1 4v V-1 ¢A 50 94.0 12.0|A18 A5 2NV= a7 -120  94.0 12.0
B48 B40 4y N+1 &K 450 97.0 9.0|D14 D2 24 V-1 &6 50 940 12.0( Cl1l C16 34V +1l &5 -130  92.0 14.0
G2 G4 4v N= ¢Q 420 78.0 28.0(B41 B33 3vV-1 ¢A 50 940 120| F1 F8 24V +3 & -150 85.0 21.0
D4 D18 4y S= ¢K 420 78.0 28.0|B48 B40 3vV-1 ¢A 50 940 12.0( D4 D17 3#V+2 «Q -150 85.0 21.0
E4 E6 4vyN= ¢4 420 78.0 28.0|B50 B35 3v V-1 &2 50 94.0 12.0| D8 D14 2NV +1 45 -150 85.0 21.0
A7 A3 4vy S= ¢A 420 78.0 28.0| E3 E11 2+ V= ¢A -110 81.0 25.0|Cll C3 34 N-3 &2 -150 85.0 21.0
C8 C11 4v S= ¢A 420 780 280| G9 Gl 2vV= ¢A -110 810 250|F13 F2 3#40+2 ¢J -150 85.0 21.0
E8 E14 4v S= ¢A 420 780 28.0|E13 El1 2v V= &6 -110 81.0 25.0|A15 A3 2NV +1 a7 -150 85.0 21.0
D9 D17 4v S= ¢A 420 780 28.0(A14 A8 24V= ¢A -110 81.0 250| D5 D19 3&4V+3 4Q -170 77.0 29.0
FO F10 4v S= ¢A 420 780 28.0| E2 E5 2NV= &2 -120  76.0 30.0 | F10 F11 2&V +4 ¢2 -170  77.0 29.0
E12 E7 4vS= ¢A 420 780 280| C3 C5 3vV= ¢A -140 59.0 47.0| C7 C15 2NV+2 «Q -180 73.0 33.0
F12 F7 4vy N= &4 420 78.0 28.0| D4 D18 2v V+1 &2 -140 59.0 470(Al11 A6 2NV+2 «Q -180 73.0 33.0
B34 B47 4v S= ¢A 420 780 28.0| A7 A3 3v V= &2 -140 59.0 470| E3 E6 54V= 4Q -600 53.0 53.0
B36 B44 4v S= +A 420 78.0 28.0| D7 D13 2vV+1 ¢A -140 59.0 470| F3 F6 54V= «Q -600 53.0 53.0
B49 B32 4v S= ¢A 420 780 28.0( D8 D15 1v V+2 +¢8 -140 59.0 470 G3 G6 3NV= 4Q -600 53.0 53.0
F13 F1 3NS= 45 400 64.0 420( E8 E14 2v V+1 &2 -140 59.0 470| C4 C6 3NV= 4Q -600 53.0 53.0
F8 F14 3v N+2 ¢Q 200 60.0 46.0| C9 C4 3vV= ¢A -140 59.0 47.0| E4 E12 3NV= &7 -600 53.0 53.0
Al4 A8 3vy N+2 +Q 200 60.0 46.0| E9 E10 3v V= ¢A -140 59.0 47.0| F4 F12 3NV= &5 -600 53.0 53.0
B46 B38 3vy N+2 ¢Q 200 60.0 46.0|G10 G5 3v V= &6 -140 59.0 470| F5 F7 540= 3 -600 53.0 53.0
D3 D16 3v N+1 &K 170 46.0 60.0(F12 F7 3v V= &2 -140 59.0 47.0| E9 E14 3NV= 45 -600 53.0 53.0
F3 F11 2v S+2 45 170 46.0 60.0|A13 Al 2¢v O+1 ¢A -140 59.0 47.0| G9 Gl 54 0= a7 -600 53.0 53.0
F4 F6 3v S+1 ¢K 170 46.0 60.0(Cl4 C7 3vyV= ¢A -140 59.0 47.0|A10 Al7 3NV= a7 -600 53.0 53.0
D7 D13 3v S+1 ¢A 170 46.0 60.0(Al5 A2 2vyV+1 ¢A -140 59.0 470|C10 C5 3NV= a5 -600 53.0 53.0
C9 C4 3vS+1 &4 170 46.0 60.0(C15 C6 3vy V= &7 -140 59.0 47.0(E10 E11 3NV= «4Q -600 53.0 53.0
G10 G5 3vy N+1 ¢Q 170 46.0 60.0 (D22 D21 3vy V= &6 -140 59.0 47.0|G10 G5 3NV= a7 -600 53.0 53.0
E13 E1 34 S+1 ¢2 170 46.0 60.0(B49 B32 3vy V= &2 -140 59.0 47.0|E13 E2 54V= ¢4 -600 53.0 53.0
Al5 A2 1v S+3 ¢A 170 46.0 60.0|E12 E7 INO+2 +¢5 -150 420 64.0(D15 D3 3NV= 48 -600 53.0 53.0
Cl5 C6 3vy N+1 &4 170 46.0 600 F2 F5 2v V+2 &2 -170  28.0 78.0|D22 D6 3NV= a7 -600 53.0 53.0
D20 D5 3v S+1 ¢A 170 46.0 60.0| D3 D16 2y V+2 ¢A -170 28.0 78.0(B36 B50 5# V= a7 -600 53.0 53.0
B50 B35 1v S+3 ¢A 170 46.0 60.0| F3 F1l1 2v V+2 &6 -170 28.0 78.0(B39 B46 3NV= &7 -600 53.0 53.0
D8 D15 14 S+1 ¢A 110 330 73.0| A6 Al6 1v V+3 ¢A -170 280 780| E1 E8 3NV+1l 4J -630 25.0 81.0
Cl10 C2 14 S+1 ¢A 110 330 730 G7 G8 3vyV+1l ¢A -170 280 780| G2 G4 3NV+l1 «Q -630 25.0 81.0
G7 G8 INV-2 ¢3 100 29.0 77.0| F8 F14 1lvy V+3 &2 -170 280 78.0( A8 A4 3NV +1l &7 -630 25.0 81.0
B37 B39 4¢ V-2 v7 100 29.0 77.0| D9 D17 3vV+1l ¢A -170 28.0 78.0| A9 Al4 3NV +1l 8 -630 25.0 81.0
C13 C1 1#S+1 +A 90 250 81.0| F9 F10 24 V+2 ¢A -170 28.0 78.0|D10 D18 3NV+1 «Q -630 25.0 81.0
Cl4 C7 14S+1 ¢A 90 25,0 81.0(D11 D6 1v V+3 &T -170 28.0 78.0|A13 A2 3NV +1l &7 -630 25.0 81.0
G3 G6 3¢ 0O-1 vA 50 16.0 90.0|C13 Cl1l 3vV+l ¢A -170 28.0 78.0|Cl4 C8 3NV +l a5 -630 25.0 81.0
E9 E10 3¢ V-1 &T 50 16.0 90.0 (D20 D5 2v V+2 ¢A -170 28.0 78.0|D21 D20 3NV +1 &5 -630 25.0 81.0
A10 A5 3¢ V-1 ¥5 50 16.0 90.0 (B36 B44 3v V+1 ¢A -170 28.0 78.0|B42 B34 3NV +1 &7 -630 25.0 81.0
D10 D19 3¢ V-1 4Q 50 16.0 90.0|B37 B39 3vV+l ¢A -170 28.0 78.0|B47 B35 3NV +1l &7 -630 25.0 81.0
Al2 All 3¢ V-1 v6 50 16.0 90.0|A12 A1l 2v O+3 46 -200 140 92.0| E5 E7 3NV+2 ¢2 -660 7.0 99.0
D14 D2 3¢ V-1 v6 50 16.0 900 E4 E6 4v V= ¢A -420 7.0 99.0| G7 G8 3NV+2 «Q -660 7.0 99.0
D22 D21 3¢ V-1 &T 50 16.0 90.0( C8 C11 4v V= ¢A -420 7.0 99.0| F9 F14 3NO+2 5 -660 7.0 99.0
G9 G1 5vN-1 ¢Q -50 6.0 100.0 |D10 D19 4v V= ¢A -420 7.0 99.0|D12 D7 3NV+2 &T -660 7.0 99.0
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D11 D6 4y N-1 &K -50 6.0 100.0 | B34 B47 44 V= ¢A -420 7.0 99.0|C13 C2 3NV+2 a7 -660 7.0 99.0
Al8 A4 4v S-1 +A -50 6.0 100.0|B42 B45 4v V= ¢A -420 7.0 99.0|B31 B45 3NV +2 2 -660 7.0 99.0
B42 B45 2¢ V= v5 -90 2.0 104.0|B46 B38 4v V= ¢A -420 7.0 99.0|B38 B40 3NV+2 «Q -660 7.0 99.0
Al13 Al 44 N-3 ¢Q -150 0.0 106.0|C10 C2 4v V+l ¢A  -450 0.0 106.0|B49 B33 3NV +2 &5 -660 7.0 99.0
- D12 66.7 - D12 66.7 - D11 53.9
C16 - 63.5 C16 - 63.5 C9 - 58.0
- B31 51.2 - B31 51.2 - B32 51.4
4 4« K6 Bésta kontrakt 5 D105 Basta kontrakt 6 4632 Basta kontrakt
Vast v 85 24 V =-110 Nord v9 3NT O =-400 Ost vKD3 3NT S =400
Alla + KD863 NS + ED10974 ov + K10974
#KD53 & ¢ v & NT #KKn5 & ¢ v & NT *E9 & ¢ v & NT
442 « ED1093 N6 56 46 « K874 4 EKN9 N65444 4 EKNn54 4D8 N5 109 9 9
v DKn43 v K10 S656 46 v 102 v EK765 S54 444 v10842 76 S 5109 9 9
¢ EKn1095 ¢ 74 06 87 87 ¢ K8532 ¢ Kn6 088999 + D32 ¢ Kn5 07 3444
&E4 #10872 V78787 #83 #ED2 V68999 #Kn8 #K1076432 V 7 3 4 4 4
 Kn875 4632 & K1097
vE9762 v DKn843 v EKn95
2 .- + E86
#Kn96 #109764 #D5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E3 E6 3NV-3 &K 300 1040 20| D5 D18 3NV-3 v9 150 1040 20| F5 F1 3NS+2 &5 460 102.0 4.0
C4 C6 34 0-3 +2 300 1040 20| F5 F1 34V-3 v9 150 1040 20| F6 F8 3NN+2 &6 460 102.0 4.0
D12 D7 3NV-3 &5 300 104.0 2.0|F14 F10 4v O-3 #4 150 1040 2.0|G10 G6 3NS+2 v4 460 102.0 4.0
D10 D18 3¢ V-2 +8 200 95.0 11.0| G4 G7 44 V-2 9 100 93.0 13.0({D21 D6 3NS+2 &J 460 102.0 4.0
F10 F11 3v V-2 &3 200 950 11.0({ G8 Gl1 3vO-2 46 100 93.0 13.0(B31 B35 3NN+2 &2 460 102.0 4.0
G10 G6 3NO-2 #9 200 95.0 11.0( A9 A5 3vDO-1 #9 100 93.0 13.0( A2 Al 3NN+1 &2 430 86.0 20.0
B36 B50 3NV-2 46 200 95.0 11.0|F11 F12 44 V-2 v9 100 93.0 13.0( G4 G7 3NN+1 &4 430 86.0 20.0
B47 B35 3NO-2 #J 200 95.0 11.0(A14 A10 3v O-2 &T 100 93.0 13.0( D5 D18 3NN+1 &6 430 86.0 20.0
B49 B33 3¢ V-2 &K 200 95.0 11.0(B31 B35 3v O-2 43 100 93.0 13.0( E5 E1 3NS+1 4J 430 86.0 20.0
F5 F7 24 N+1 «Q 110 88.0 18.0|B44 B38 44 V-2 v9 100 93.0 13.0( E6 E8 3NN+1 &6 430 86.0 20.0
F3 F6 2NO-1 2 100 740 32.0(B48 B42 4v O-2 &6 100 93.0 13.0( G8 G1 3NN+l &6 430 86.0 20.0
D4 D17 2¢ V-1 v8 100 740 320 E2 E9 3NO-1 &T 50 75.0 31.0(Al14 A10 3NS+1 44 430 86.0 20.0
G4 G7 24 O-1 +2 100 740 320 F2 F9 2v O-1 &T 50 75.0 31.0|E14 E10 3NS+1 44 430 86.0 20.0
D5 D19 3NO-1 #6 100 740 320( A4 A15 24 V-1 ¥9 50 75.0 31.0({D20 D19 3NN+1 &6 430 86.0 20.0
C7 C15 24 O-1 +2 100 740 320 E4 E7 4v O-1 &T 50 75.0 31.0(B45 B32 3NN+1 &7 430 86.0 20.0
G8 G1 24 V-1 &5 100 740 320| F4 F7 2NO-1 +8 50 75.0 31.0|B48 B42 3NN+1 &6 430 86.0 20.0
D9 D16 INV-1 #3 100 740 32.0(E1l E12 3v O-1 &T 50 750 31.0(F13 F3 4v N= 44 420 73.0 33.0
G9 G2 34 0-1 ¢2 100 740 32.0(Al12 A7 44 V-1 ¢A 50 75.0 31.0(B44 B38 4v S= &A 420 73.0 33.0
A10 Al7 2NO-1 v6 100 740 32.0(B34 B49 4v O-1 46 50 750 310 E2 E9 3#0-2 ¢A 200 70.0 36.0
E10 E11 34 O-1 +¢2 100 740 32.0(B36 B47 2v O-1 &T 50 750 31.0( F4 F7 3¢ N+2 &K 150 66.0 40.0
All A6 INV-1 +K 100 74.0 32.0(B45 B32 44 V-1 ¥9 50 75.0 31.0( C8 C15 3¢ N+2 &7 150 66.0 40.0
Al5 A3 3NO-1 6 100 740 320( C9 C14 INO= &6 -90 640 42.0|D16 D4 2NN+1 ¢7 150 66.0 40.0
D21 D20 2NV-1 +8 100 740 320( G3 G5 2vO= &T -110 55.0 51.0| D3 D14 1v S+2 #8 140 58.0 48.0
Al6 A7 24 N= 43 90 60.0 46.0( E5 E1 2vO= &4 -110 550 51.0( G3 G5 3vS= &J 140 58.0 48.0
G3 G5 INV= &5 -90 56.0 50.0| A6 Al18 2¢v O= T -110 550 51.0| C5 C7 1v S+2 &#J 140 58.0 48.0
D15 D3 2¢ V= &#Q 90 56.0 50.0| F6 F8 2vO= %4 -110 550 51.0(E13 E3 3vS= &J 140 58.0 48.0
B44 B37 INV= &3 -90 56.0 50.0| C8 C15 1v O+1 #T -110 55.0 51.0|B34 B49 3v S= &J 140 58.0 48.0
Cl4 C8 2v S-1 44 -100 510 55.0(G10 G6 24 V= ¥9 -110 55.0 51.0(D11 D7 2¢ N+2 &4 130 49.0 57.0
A18 A5 2NN-1 ¢A -100 51.0 55.0|D20 D19 2v O= &7 -110 55.0 51.0(E11 E12 3¢ N+1 7 130 49.0 57.0
E9 E14 24 O= vA -110 470 59.0(B39 B41 2vy O= #T -110 550 51.0[Al7 All 3¢ S+1 #J 130 49.0 57.0
Al3 A2 24 O= 2 -110 470 59.0(A16 A8 2NO= &T -120 46.0 60.0|B40 B46 2¢ N+2 &7 130 49.0 57.0
D2 D13 INV+1l &5 -120 37.0 69.0( D3 D14 2v O+1 &6 -140 350 71.0|( A6 Al18 3¢ S= &J 110 40.0 66.0
E4 E12 2NO= &9 -120 370 69.0( C5 C7 1v O+2 &9 -140 350 71.0( D9 D15 3¢ N= &2 110 40.0 66.0
F4 F12 INV+1 &5 -120 370 690 E6 E8 1vO+2 &T -140 350 71.0|Cl1 C6 2¢ S+1 #8 110 40.0 66.0
A9 Al4 2NV = &3 -120 37.0 69.0( D9 D15 2v O+1 &6 -140 350 71.0(F14 F10 24 S= &J 110 40.0 66.0
Cl13 C2 2NO= &6 -120 370 69.0({Cl10 Cl1 34V= ¢A -140 350 71.0|B39 B41 2¢ N+1 #J 110 40.0 66.0
F13 F2 2NV= 8 -120 370 69.0(F13 F3 2v O+1 42 -140 350 710 G9 G2 1vS= &J 80 33.0 73.0
B41 B48 2NO= v2 -120 370 69.0(E14 E10 2v O+1 &T -140 350 71.0|A16 A8 1lv S= +¢3 80 33.0 73.0
B42 B34 INV+1 &K -120 37.0 69.0|C16 C2 3v O= &T -140 350 71.0| D2 D12 3NS-1 45 -50 21.0 85.0
E1l E8 2NV +1 +8 -150 26.0 80.0(D16 D4 34 V= ¢A -140 350 710| F2 F9 4v S-1 &8 -50 21.0 85.0
F1 F8 2NO+1 v7 -150 26.0 80.0 [Al7 A1l 2v O+1 &T -140 350 71.0| A4 Al5 4y S-1 &A -50 21.0 85.0
D8 D14 2NO+1 45 -150 26.0 80.0 [E13 E3 3v O+l &4 -170 240 820 A9 A5 3NS-1 42 -50 21.0 85.0
Cl C16 2v S-2 +4 200 16.0 90.0( A2 Al 2¢ N-2 vA -200 220 84.0|C10 C1 3NN-1 &2 -50 21.0 85.0
A8 A4 2v S-2 44 -200 160 900 G9 G2 3¢ N-3 vA -300 18.0 88.0|Al12 A7 4v S-1 &J -50 21.0 85.0
Cl0 C5 2v S-2 &4 -200  16.0 90.0 [A13 A3 2¢ N-3 vA -300 18.0 88.0|A13 A3 4v S-1 8 -50 21.0 85.0
Cll C3 2vS-2 2 -200  16.0 90.0 (B50 B37 3¢ N-3 vA -300 18.0 88.0|D13 D8 4v S-1 +¢2 -50 21.0 85.0
E13 E2 1vS-2 #A -200 16.0 90.0 (D10 D17 3¢ N-4 ¢K -400 13.0 93.0|B36 B47 4v S-1 +¢2 -50 21.0 85.0
D22 D6 2vS-2 &A -200 16.0 90.0|D13 D8 3NO= 3 -400 13.0 93.0(B50 B37 3v S-1 &8 -50 21.0 85.0
B38 B40 2NN-2 7 -200 16.0 90.0| D2 D12 4v O= &T  -420 9.0 970| E4 E7 3vS-2 &J] -100 6.0 100.0
Al Al2 2¢ N-3 vK -300 7.0 99.0|C1l1 C6 4e V= ¢A -420 9.0 97.0|D10 D17 4v S-2 #J -100 6.0 100.0
E5 E7 2v S-3 44 -300 7.0 99.0|C13 C3 3¢ N-5 vA -500 5.0 101.0 |F11 F12 4v S-2 #J -100 6.0 100.0
F9 F14 3NO= v6 -600 3.0 103.0 |B40 B46 4¢ N-5 vA  -500 5.0 101.0|C13 C3 44 S-2 +6 -100 6.0 100.0
B39 B46 3NV= 46 -600 3.0 103.0|D11 D7 2¢DN-3 vA  -800 1.0 105.0|C16 C2 3v S-2 &J -100 6.0 100.
B31 B45 3vDS-3 44 -800 0.0 106.0|D21 D6 3¢DN-3 vA  -800 1.0 105.0| C9 Cl1l4 4v S-3 &J -150 0.0 106.0
- D11 53.9 - D22 68.7 - D22 68.7
C9 - 58.0 - C4 47.7 - C4 47.7
- B32 514 - B33 53.3 - B33 53.3
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7 4 EKDKn107 Basta kontrakt 8 4765 Basta kontrakt 9 a7 Basta kontrakt
Syd v5 64 S =1430 Vast vE6 3¢ N =110 Nord v K1042 54 O =-650
Alla + E108 Ingen + E532 ov + 10973
*Kn74 & ¢ v & NT #10742 & ¢ v & NT #7632 & ¢ v & NT
49 4853 N 12127 127 + K102 « D83 N6 9587 D98 4K1065432 N 6 5 8 2 4
vED10872 K643 S 12127 127 v 109732 vDKn4 S6 9587 vE983 v- S6 5824
4975 ¢ Kn63 000600 ¢ 74 ¢ 1096 06 4756 ¢+ ED86 ¢54 07 7 4 117
865 #K103 VOO0OG6 00 #E63 #KD95 V64756 #K9 #DKn108 V774117
4642 & EKn94 & EKn
v Kn9 v K85 v DKn765
+ KD42 + KDKn8 4 KKn2
#ED92 *Kn8 #E54
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Al7 Al2 6aDN= vK 1660 106.0 0.0| F3 F10 BNN= &5 400 106.0 0.0| D7 D21 3vyDS= vA 530 106.0 0.0
Gl G2 44 N+3 &3 710 103.0 30| C1 C5 2NS+1 v2 150 98.0 8.0(Al15 A6 64DO-1 A 200 1039 21
E12 E1 44 N+3 &T 710 103.0 3.0| D3 D13 2¢ S+3 42 150 98.0 8.0(D11 D8 2NV-1 2 100 1019 41
Al A8 44 N+2 ¢3 680 720 34.0( D4 D15 INS+2 2 150 98.0 80| E4 E11 4v S-1 4Q 50 999 6.1
Cl C5 44 N+2 ¥3 680 720 340 E5 E8 INS+2 T 150 98.0 8.0 E8 E10 4vDS-1 48 -100 96.8 9.2
E3 E10 44 N+2 ¥3 680 720 340(A13 A4 INS+2 &A 150 98.0 8.0|B33 B37 INS-2 ¢8 -100 96.8 9.2
F3 F10 44 N+2 &T 680 72.0 34.0(Al17 A12 INS+2 2 150 98.0 8.0|A17 Al 24 O+2 vQ -170 93.8 122
G4 G6 44 N+2 vK 680 72.0 34.0(B45 B33 INN+2 &3 150 98.0 80| A4 A3 24 O+3 vQ -200 856 204
F5 F8 44 N+2 v6 680 720 340| F5 F8 34 S= &3 140 89.0 17.0| F4 F11 34 O+2 &5 -200 85.6 204
G5 G8 44 N+2 ¥3 680 720 34.0(A15 A5 34 S= ¢7 140 89.0 170 F7 F3 34 O+2 vQ -200 856 204
E6 E2 44 N+2 ¥3 680 720 340 A1 A8 INS+1 T 120 780 28.0| G9 G3 24 O+3 4 -200 856 204
F6 F2 44 N+2 ¥3 680 720 340 G4 G6 INS+1 2 120 78.0 28.0|C14 Cl11 34 O+2 A -200 85.6 204
A7 Al8 44 N+2 v4 680 720 340( E6 E2 2NS= v7 120 78.0 28.0 (D15 D10 34 O+2 ¥J -200 85.6 204
E7 E9 44 N+2 ¥3 680 720 340( F6 F2 INN+1 &5 120 78.0 28.0(B44 B40 34 O+2 vQ -200 85.6 204
G9 G3 44 N+2 v4 680 720 340(G10 G7 INS+1 2 120 78.0 28.0(C15 C10 4vDS-2 ¢A -300 775 285
A10 A6 44 N+2 vK 680 720 34.0(D12 D8 INS+1 2 120 78.0 28.0( D6 D19 5vDS-3 4Q -500 754 30.6
C10 C14 44 N+2 ¥3 680 720 340(E12 E1 INS+1 &3 120 780 28.0| E1 E2 44 O= ¥5 -620 724 33.6
D10 D16 44 N+2 +3 680 720 340(F12 F1 INS+1 &3 120 78.0 28.0|D13 D9 44 O= ¥5 -620 724 33.6
G10 G7 44 N+2 ¥3 680 720 34.0(A16 A9 INN+1 &5 120 780 28.0( C1 C8 44 O+l ¢2 -650 418 64.2
D12 D8 44 N+2 ¥3 680 720 340(F13 F4 14 S+1 &8 110 64.0 420| G1 G2 44 O+l vQ -650 418 64.2
F12 F1 44 N+2 v6 680 720 340(F14 F11 24 S= &3 110 64.0 42.0| A2 A9 44 O+1 vQ -650 418 64.2
Al4 A1l 44 N+2 43 680 720 34.0(D17 D5 24 S= T 110 640 420 C2 C6 54 O= ¥5 -650 418 64.2
D14 D9 44 N+2 ¥3 680 72.0 34.0(B31 B48 2¢ S+1 &A 110 64.0 42.0| D2 D22 44 O+1 vQ -650 418 64.2
E14 E11 44 N+2 vK 680 72.0 34.0(B40 B42 2¢ S+1 T 110 64.0 420| G4 G6 44 O+1 vQ -650 418 64.2
Al5 A5 44 N+2 v3 680 720 34.0( D2 D11 INS= ¢2 90 41.0 650| D5 D16 44 O+1 #A -650 418 64.2
Al16 A9 44 N+2 v6 680 720 340 A3 A2 INS= v7 90 410 650 G5 G8 44 O+1 vQ -650 418 64.2
D19 D18 44 N+2 ¥3 680 720 340| E3 E10 INS= T 90 410 650| F6 F9 44 O+1 v5 -650 41.8 64.2
D22 D7 44 N+2 v6 680 720 340 G5 G8 INS= ¢3 90 410 65.0| C7 C9 44 O+1 v5 -650 418 64.2
B40 B42 44 N+2 v3 680 72.0 340 A7 A18 INS= +3 90 410 650 E7 E3 44 O+1 vQ -650 418 64.2
B44 B39 44 N+2 v3 680 720 340( E7 E9 INS= #3 90 410 650 F8 F10 44 O+1 ¢J -650 41.8 64.2
B46 B41 44 N+2 v4 680 720 340( F7 F9 INS= v7 90 41.0 65.0|A10 A16 44 O+1 #A -650 418 64.2
B49 B35 44 S+2 v3 680 720 340(A10 A6 INS= ¢2 90 41.0 65.0(G10 G7 44 O+1 v5 -650 418 64.2
D3 D13 44 N+1 v6 650 29.0 77.0(D10 D16 2¢ S= T 90 41.0 65.0|E12 E14 44 O+1 vQ -650 418 64.2
D4 D15 44 N+1 ¢3 650 29.0 77.0(Al14 A1l INS= ¥3 90 410 65.0(Al13 A5 44 O+1 vQ -650 418 64.2
E5 E8 44 N+1 45 650 29.0 77.0(D14 D9 INS= #2 90 41.0 65.0(E13 E5 44 O+1 ¥5 -650 418 64.2
C6 C8 44 N+1 ¥3 650 29.0 77.0(E14 E11 INS= T 90 410 65.0|F13 F5 44 O+1 4 -650 418 64.2
F7 F9 44 N+1 v4 650 29.0 77.0(D19 D18 INS= +3 90 41.0 65.0|Al14 Al2 44 O+1 v5 -650 418 64.2
Cl13 C4 44 N+1 ¢33 650 29.0 77.0({D22 D7 INS= T 90 410 650(Cl6 C4 44 O+1 #A -650 418 64.2
E13 E4 44 N+1 #T 650 29.0 77.0|B38 B50 INS= T 90 410 65.0[A18 A8 44 O+1 #A -650 418 64.2
F13 F4 44 N+1 v4 650 29.0 77.0(B44 B39 INS= T 90 41.0 65.0|D18 D17 44 O+1 vQ -650 41.8 64.2
F14 F11 44 N+1 ¥3 650 29.0 77.0(B46 B41 INS= #2 90 41.0 65.0(B36 B49 44 V+1 vK -650 418 64.2
Cl5 C9 44 N+1 v4 650 29.0 77.0(B49 B35 INS= T 90 41.0 65.0(B41 B3l 44 O+1 ¥5 -650 41.8 64.2
D17 D5 44 N+1 46 650 29.0 770 G1 G2 2NS-1 ¥2 -50 13.0 93.0(B45 B34 44 O+1 #A -650 418 64.2
B32 B36 44 N+1 ¢3 650 290 770 C6 C8 2NS-1 T -50 13.0 93.0(B46 B42 44 O+1 #A -650 418 64.2
B37 B47 44 N+1 vK 650 29.0 77.0( D6 D20 2NS-1 #2 -50 13.0 93.0(B47 B38 44 O+1 vQ -650 418 64.2
B38 B50 44 N+1 ¥3 650 29.0 770 G9 G3 2NN-1 &5 -50 13.0 93.0|B50 B39 44 O+1 +¢2 -650 418 64.2
Cll1 C2 24 N+5 v2 260 140 92.0(C10 C14 4¢ S-1 &A -50 13.0 93.0(Cl13 C5 44 O+2 #A -680 12.2 9338
D6 D20 24 N+4 ¥3 230 11.0 95.0|C13 C4 2NN-1 &K -50 13.0 93.0| D4 D14 54DO= vQ -850 9.2 96.8
B31 B48 24 N+4 v6 230 11.0 95.0(E13 E4 24 S-1 &6 -50 13.0 93.0| E6 E9 54DO= #A -850 9.2 96.8
D2 D11 34 N+2 6 200 4.0 102.0(C15 C9 2NS-1 +3 -50 13.0 930| F1 F2 44DO+1v7 -990 3.1 102.9
A3 A2 24 N+3 v5 200 4.0 102.0 (B32 B36 2NS-1 *T -50 13.0 93.0| D3 D12 44DO +1#A  -990 3.1 102.9
C3 C16 34 N+2 vK 200 4.0 102.0 (B37 B47 3NS-1 ¢3 -50 13.0 93.0|Al1l A7 44DO+1#A -990 3.1 102.9
Al13 A4 24 N+3 vK 200 4.0 1020 C3 C16 3NS-2 #2 -100 1.0 105.0 |B32 B48 44DO+1vQ -990 3.1 102.9
B45 B33 2vyDV-1 4A 200 4.0 102.0(C11 C2 3NS-2 v2 -100 1.0 105.0 - D20 51.0
- D21 59.0 - D21 59.0 - C3 56.0
- C7 46.8 - C7 46.8 - B35 375
- B34 60.6 - B34 60.6 [ F12 F14 A-IA- 424 424
10 4 Kn83 Basta kontrakt 11 41073 Basta kontrakt 12 & DKn7 Basta kontrakt
Ost v K87 54 O =-650 Syd v 102 3v S =140 Vast v 10862 34V =-110
Alla 4963 Ingen + D84 NS + 965
#KD65 & ¢ v & NT #Kn9762 & ¢ v & NT #EKS8 & ¢ v & NT
4 D10 « EK972 N2 4322 4 DKn « EK9862 N89 957 4 K1085 4 E932 N46 6 46
vE963 v 1052 S25322 v 9873 vD6 S89 967 vKD73 vE4 S46646
¢ EKn105 ¢D O 108 101110 ¢73 ¢ Kn652 0544765 ¢ Kn8 ¢+ KD 096 7 86
#1093 #EKn82 V 108 101110 #KD1054 #3 V53475 &#Kn54  #D9732 V967 86
4654 454 464
v DKn4 v EKKn54 v Kn95
+ K8742 + EK109 ¢ E107432
*74 »E8 #106
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
A4 A3 4y V-2 &K 200 105.0 1.0|A18 A9 4¢vDS= 4Q 590 106.0 00| F2 F3 3NO-4 ¢2 200 106.0 0.0
B46 B42 3NV-2 &5 200 105.0 1.0(Cl1l1 C15 44D O-3 #A 500 1039 21| Cl1 C4 44 0-2 +A 100 93.0 13.0
D11 D8 2v V-1 &5 100 988 7.2 Cl C4 44DO-2 A 300 97.8 82| A3 A10 44 O-2 +A 100 93.0 13.0
A13 A5 4v V-1 +3 100 988 7.2 F2 F3 44DO-2 ¢A 300 978 82| A5 A4 44 O-2 &T 100 93.0 13.0
D13 D9 44 O-1 #4 100 988 7.2| F5 F12 34aDO-2 ¢A 300 97.8 82| D5 D15 44 O-2 +¢A 100 93.0 13.0
Al4 Al2 44 O-1 2 100 988 7.2 E8 E4 34DO-2 ¢A 300 978 82| F5 F12 INO-2 2 100 93.0 13.0
Cl13 C5 24 O= &7 -110 917 14.3|Al15 A7 44DO-2 #A 300 978 82| E7 E10 44 O-2 &T 100 93.0 13.0
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C15 C10 2¢ V+1 +6 -110 917 14.3|B45 B35 3v S+2 4Q 200 91.7 14.3| E9 E11 44 V-2 &K 100 93.0 13.0
B33 B37 24 O= ¢2 -110 91.7 14.3|D14 D10 34 O-3 vA 150 88.7 17.3|F13 F6 44 V-2 #K 100 93.0 13.0
El E2 440= ¢2 -130 86.6 19.4 (D18 D6 34 O-3 ¢K 150 88.7 17.3(B34 B38 44 O-2 #T 100 93.0 13.0
F1 F2 3 0+1 ¢7 -130 86.6 194 | G2 G3 2v S+1 &K 140 79.5 26.5|B45 B35 44 O-2 &T 100 93.0 13.0
C2 C6 3vO+1 &K -170 825 235| G5 G7 2v S+1 «K 140 79.5 26.5|B46 B31 44 O-2 ¢A 100 93.0 13.0
E8 E10 24 O+2 vQ -170 825 235| D7 D20 3v S= «4Q 140 795 26.5|B49 B37 44 O-2 &T 100 93.0 13.0
E7 E3 INV+3 &5 -180 775 285| F7 F10 2v S+1 «Q 140 795 265| F1 F14 44 O-1 7 50 62.0 44.0
E13 E5 2NO+2 2 -180 775 285(F13 F6 3v N= «Q 140 795 265| C2 C9 44 0-1 ¢+A 50 62.0 44.0
B45 B34 INV+3 43 -180 77.5 28.5(B47 B39 1lv S+2 &K 140 795 265| E2 E3 44 O-1 v5 50 62.0 44.0
F7 F3 24 O+3 &7 -200 713 34.7|B48 B33 3v S= 4Q 140 795 265| C3 C7 44 O-1 3 50 62.0 44.0
Cl6 C4 24 O+3 &4 -200 713 347|Al12 A8 44 O-2 #A 100 69.3 36.7| C5 C16 34 O-1 &T 50 62.0 44.0
B41 B31 34 O+2 &7 -200 713 34.7|A13 A6 34 O-2 ¢A 100 69.3 36.7| G6 Gl 44 V-1 ¢9 50 62.0 44.0
Al5 A6 INV+4 &5 -210 66.2 39.8|E13 E6 24 O-2 9 100 69.3 36.7| D7 D20 44 O-1 45 50 62.0 44.0
D18 D17 INV+4 &K -210 66.2 39.8| A3 Al10 24 O-1 #A 50 540 52.0| C8 C10 24 O-1 +A 50 62.0 44.0
A2 A9 2NV +4 &3 -240 59.1 469| D4 D13 24 O-1 #A 50 540 520 F8 F4 INO-1 2 50 62.0 44.0
G5 G7 INV+5 &5 -240 59.1 469| A5 A4 34 0-1 vA 50 540 520| F9 F11 1vV-1 &A 50 62.0 44.0
F8 F10 2NV +4 &6 -240 59.1 46.9| D5 D15 24 O-1 vK 50 540 52.0|G10 G8 44 O-1 +A 50 62.0 44.0
G9 G4 INV+5 &K -240 591 469| G6 Gl 24 0O-1 +A 50 540 52.0|D12 D9 24 O-1 +A 50 62.0 44.0
B47 B38 2NV +4 &5 -240 59.1 46.9| C8 C10 34 O-1 vK 50 540 52.0|A13 A6 34 0-1 +A 50 62.0 44.0
D5 D16 3NO= vK -600 52.0 540| F8 F4 34 0-1 #A 50 54.0 52.0|Al15 A7 34 0-1 +A 50 62.0 44.0
B50 B39 3NV= ¢7 -600 52.0 540| E9 E11 34 O-1 #A 50 54.0 52.0|D17 D16 44 O-1 ¢A 50 62.0 44.0
B32 B48 44 O= 46 -620 479 58.1|D12 D9 24 O-1 +¢A 50 540 52.0|A18 A9 44 O-1 +A 50 62.0 44.0
B44 B40 44 O= vQ -620 47.9 58.1|Al16 All 24 O-1 ¢A 50 54.0 52.0|B40 B50 44 O-1 +A 50 62.0 44.0
Cl C8 3NO+1 2 -630 35.7 70.3|B42 B32 34 O-1 vA 50 54.0 52.0|B44 B41 44 O-1 ¢A 50 62.0 44.0
D2 D22 3NV +1 &6 -630 35.7 70.3(B46 B31 24 O-1 vA 50 54.0 52.0(B48 B33 44 O-1 ¢A 50 62.0 44.0
D4 D14 3NV +1 v7 -630 35.7 70.3| A2 Al7 3v S-1 «Q -50 36.7 69.3|(D18 D6 1lv V= &K -80 42.0 64.0
FA4 F11 3NO+1 7 -630 35.7 70.3| E5 E12 2NS-1 «Q -50 36.7 69.3| A2 Al7 24 O= &T -110 32.0 74.0
G6 Gl 3NO+1 vQ -630 357 703| G9 G4 3¢ S-1 «Q -50 36.7 69.3| D3 D11 24 V= &#A -110 320 740
C7 C9 3NO+1 ¢4 -630 35.7 70.3|(G10 G8 3v S-1 «Q -50 36.7 693| G5 G7 24 O= &T -110 320 74.0
Al10 A16 3NV +1 &5 -630 35.7 70.3(B44 B4l 3¢ S-1 &Q -50 36.7 693 E8 E4 24 O= T -110 320 740
G10 G8 3NO+1 vQ -630 357 703| C2 C9 3vS-2 4Q -100 224 836| G9 G4 24 O= &T -110 320 74.0
All A7 3NV+1 v7 -630 357 70.3| D2 D21 2NS-2 «Q -100 224 83.6|Al2 A8 24 O= &T -110 320 74.0
Al7 Al 3NV+1 ¢9 -630 357 70.3| C3 C7 4vS-2 «4Q -100 224 836|C1l3 C6 24 O= ¢A -110 320 740
D3 D12 44 O+1 v4 -650 224 836| D3 D11 3¢ S-2 4Q -100 224 836|D14 D10 2# O+1 ¢A -110 32.0 74.0
D15 D10 44 O+1 &7 -650 224 836| C5 C16 3vS-2 «Q -100 224 83.6|B42 B32 24 O= &T -110 320 74.0
B36 B49 44 O+1 v4 -650 224 836| F9 F11 3v S-2 «4Q -100 224 83.6| D2 D21 24 O+1 ¢4 -140 16.0 90.0
E4 E11 3NO+2 ¢4 -660 13.3 92.7|C13 C6 3v S-2 & -100 224 836| G2 G3 34 0= ¥2 -140 16.0 90.0
E6 E9 3NV+2 &5 -660 13.3 92.7|B40 B50 4v S-2 &K -100 224 83.6| D4 D13 24 V+1 &#A -140 16.0 90.0
F6 F9 3NV+2 &5 -660 13.3 92.7|B49 B37 4y S-2 4] -100 224 836| F7 F10 24 O+1 ¢A -140 16.0 90.0
D7 D21 3NO+2 &9 -660 133 92.7| E2 E3 24 O= &A -110 102 958|C11 C15 34 V= &K -140 16.0 90.0
E12 E14 3NV +2 &5 -660 13.3 92.7| E7 E10 24 O= #A -110 102 95.8|E13 E6 34 O= 2 -140 16.0 90.0
Al8 A8 3NV +2 &5 -660 13.3 92.7| D8 D22 24 O= <vA -110 10.2 95.8|Al16 All 24 O+1 ¢A -140 16.0 90.0
G2 G3 44 O+2 vQ -680 5.1 1009 |A14 Al 34 O= <vA -140 5.1 100.9| E1 E14 24 O+2 2 -170 8.0 98.0
F13 F5 44 O+2 &7 -680 5.1 100.9|B34 B38 34 O= ¢K -140 5.1 1009 |Al14 Al 3¢ S-2 &K -200 6.0 100.0
D6 D19 3NV +3 &5 -690 1.0 105.0| E1 E14 3v S-3 4Q -150 2.1 103.9| D8 D22 44 O= ¥5 -420 3.0 103.0
Cl4 C11 3NO+3 +2 -690 1.0 105.0 |D17 D16 34DO= ¢A -530 0.0 106.0|B47 B39 44 O= &T -420 3.0 103.0
- D20 51.0 - D19 62.1| E5 E12 4¢DS-3 &J -800 0.0 106.0
- C3 56.0 |C14 - 53.3 - D19 62.1
- B35 375 - B36 54.0 |C14 - 53.3
F12 F14 A-/A- 424 424 F1 Fl14 A+/A- 63.6 424 - B36 54.0
13 4 E1032 Basta kontrakt 14 4 Kn97642 Basta kontrakt 15 «E109 Basta kontrakt
Nord v Kn842 3v O =-140 Ost v2 6v O =-980 Syd v EKDKn109 INT S =2220
Alla +E3 Ingen + K76 NS 4532
«D97 & ¢ v & NT #1098 & ¢ v & NT &Kn & ¢ v & NT
4 D76 & K98 N9 4378 4853 4 EK N16161 4 KKn872 & D6543 N 138 137 12
v 10653 vEKD7 S943738 vDKn543 v K1086 S16161 v74 v- S 128 137 13
¢+ K8762 ¢ DKnl10 047 955 ¢EKN10 ¢2 O 117 127 11 + K96 410874 004060
»3 #Kn64 V47955 #EK #DKn6532 VvV 117 127 11 #963 #10752 VO4060
4 Kn54 4 D10 o-
v9 v E97 v 86532
¢ 954 + D98543 ¢ EDKn
#EK10852 *74 #EKD84
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F13 F7 3v O-4 &K 400 105.0 10| E6 E1 2¢ S-1 3 -50 106.0 0.0| D4 D11 7v S= v7 2210 101.0 5.0
B41 B50 3NO-4 &2 400 1050 10| F9 F5 2¢DS-1 #A -100 1040 20| E7 E2 7vS= ¢9 2210 101.0 5.0
C3 C10 4¢ V-3 42 300 98.0 80| C3 C10 3#0O+3 ¢3 -170 1020 4.0|F13 F8 7vS= ¢9 2210 101.0 5.0
F3 F4 INO-3 &3 300 98.0 80| A6 A5 2vV+3 &T -200 100.0 6.0|A14 A3 7vS= 42 2210 101.0 5.0
D4 D12 4v O-3 &A 300 98.0 80| C9 Cl1l 2vV+4 +¢6 -230 98.0 8.0(B39 B49 7v S= v4 2210 101.0 5.0
G9 G5 INO-3 #A 300 98.0 8.0(Al7 A3 540= &4Q -400 96.0 10.0|B45 B37 7v S= 48 2210 101.0 5.0
E13 E7 2NO-3 &2 300 98.0 80| F3 F4 4v V= 46 -420 93.0 13.0|( C4 C11 6vyDN +1 43 1860 94.0 12.0
D2 D20 INO-2 &5 200 82.0 24.0|A16 Al2 4v V= a7 -420 93.0 13.0( G1 G10 6v S+1 7 1460 71.0 35.0
A7 A13 INO-2 &5 200 820 240| E9 E5 4v O+1 +6 -450 87.0 19.0( A2 A10 6v N+1 &9 1460 71.0 35.0
G7 G2 INO-2 &5 200 82.0 240|E14 E2 4v V+1 &T -450 87.0 190| G3 G4 6y S+1 v7 1460 71.0 35.0
E8 E11 INO-2 48 200 82.0 240|F14 F2 4vV+1 ¢K -450 87.0 190| E4 E5 6vy S+1 ¢6 1460 71.0 35.0
E10 E12 INO-2 #8 200 82.0 240|C16 C6 4y V+1 42 -450 87.0 190 F4 F5 6v S+1 42 1460 71.0 35.0
F10 F12 INO-2 &5 200 82.0 240| Al A9 4vy V+2 +6 -480 420 64.0| D5 D13 6v S+1 6 1460 71.0 35.0
Cl6 C6 INO-2 #2 200 82.0 240| C1 Cl14 4vy V+2 49 -480 420 64.0| G6 G8 6v S+1 7 1460 71.0 35.0
Al7 A3 INO-2 &8 200 82.0 240| G1 G10 4v O+2 +9 -480 420 64.0( A7 A6 6v S+1 42 1460 71.0 35.0
B31 B33 INO-2 &5 200 820 240| C2 C5 4vV+2 #T -480 420 640| F9 F12 6v N+1 43 1460 71.0 35.0
B35 B39 INO-2 &2 200 82.0 24.0| D2 D20 4v O+2 46 -480 420 64.0( G9 G5 6v S+1 7 1460 71.0 35.0
B46 B32 INO-2 #Q 200 82.0 240| D3 D22 4vy V+2 46 -480 420 64.0(E10 E6 6v S+1 42 1460 71.0 35.0
E6 E1 INS+2 ¢2 150 70.0 36.0| E3 E4 4v V+2 +6 -480 420 64.0(E1l1 E1 6v S+1 42 1460 71.0 35.0
F14 F2 3« N+1 2 130 66.0 40.0( G3 G4 4v O+2 ¢4 -480 420 64.0(F11 F1 6v S+1 48 1460 710 35.0
D19 D7 24 S+2 ¢6 130 66.0 40.0( A4 All 4v V+2 ¢K -480 420 64.0|E14 E3 6vy S+1 v4 1460 71.0 35.0
B44 B42 3 N+1 vA 130 66.0 400 C4 C8 4v V+2 &T -480 420 64.0|F14 F3 6y S+1 ¢9 1460 71.0 35.0
E3 E4 3« N= vA 110 61.0 45.0( D4 D12 4v V+2 ¢6 -480 42.0 64.0[Al15 A9 6v S+1 48 1460 71.0 35.0
B45 B36 3« N= vA 110 61.0 45.0| D5 D14 4v V+2 46 -480 42.0 64.0|Al7 A4 6vy S+1 48 1460 71.0 35.0
C2 C5 2vO-1 &K 100 51.0 55.0( D6 D17 4v V+2 ¢K -480 42.0 64.0|D20 D8 6v N+1 42 1460 71.0 35.0
C4 C8 INO-1 #A 100 51.0 55.0| F6 F1 4v V+2 +6 -480 42.0 64.0(B32 B34 6v S+1 3 1460 71.0 35.0
D5 D14 INO-1 &K 100 51.0 55.0| G6 G8 4v V+2 44 -480 42.0 64.0(B36 B40 6v N+1 44 1460 71.0 35.0
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F6 F1 2¢v0O-1 &K 100 51.0 55.0( A7 Al13 4v V+2 &T -480 42.0 64.0|B48 B35 6v S+1 42 1460 71.0 35.0
C9 Cl11 4v O-1 #A 100 51.0 55.0| G7 G2 4v O+2 ¢4 -480 42.0 64.0|B50 B42 6v S+1 &7 1460 71.0 35.0
E9 E5 3vO-1 #A 100 51.0 55.0| D8 D21 4v V+2 46 -480 42.0 64.0| A8 Al13 6y N= &5 1430 46.0 60.0
C13 C7 2v0O-1 &A 100 51.0 55.0( E8 E11 4v V+2 46 -480 42.0 64.0|All A18 6vy S= v4 1430 46.0 60.0
Al5 A8 INO-1 &A 100 51.0 55.0| F8 Fl1 4v V+2 2 -480 42.0 64.0|B31 B44 6vy N= ¢4 1430 46.0 60.0
Al A9 264 N= 7 90 39.0 67.0| D9 D11 4y V+2 &T -480 420 640| C3 C6 4vy S+3 42 710 27.0 79.0
G6 G8 24S= 46 90 39.0 67.0] G9 G5 4y O+2 &7 -480 42.0 64.0| D3 D21 4v N+3 &6 710 27.0 79.0
Al8 A10 24 S= 46 90 39.0 67.0|E10 E12 4v V+2 ¢K -480 42.0 64.0| D6 D16 4v N+3 43 710 27.0 79.0
B38 B49 2& S= 46 90 39.0 67.0|F10 F12 4y V+2 &2 -480 420 640| C7 C16 5+ N+2 «Q 710 27.0 79.0
A4 All 2¢ V= &5 90 28.0 78.0|C13 C7 4v V+2 ¢K -480 420 640| F7 F2 4vy S+3 42 710 27.0 79.0
A6 A5 INV= #A 90 28.0 78.0(D13 D10 4v V+2 46 -480 42.0 640| G7 G2 5vS+2 v5 710 27.0 79.0
D6 D17 INO= &A 90 28.0 78.0|E13 E7 4vy V+2 &8 480 42.0 64.0| D9 D22 4v N+3 «4 710 27.0 79.0
D8 D21 INO= #A 90 28.0 78.0|F13 F7 4v V+2 ¢K -480 42.0 64.0| E9 E12 4v N+3 43 710 27.0 79.0
Al6 Al2 INO= #A 90 28.0 78.0(|Al4 A2 5vV+1l v2 -480 42.0 64.0|D10 D12 4vy N+3 ¢7 710 27.0 79.0
D16 D15 INO= #A 90 28.0 78.0(Al5 A8 4vy V+2 &T -480 420 640|F10 F6 5v S+2 #3 710 27.0 79.0
B47 B40 INO= &A 90 28.0 78.0(D16 D15 4y V+2 &T -480 42.0 64.0|C13 C8 44 N+3 43 710 27.0 79.0
Gl G10 24 N-1 vA -100  19.0 87.0|A18 A10 4v V+2 +¢K -480 42.0 64.0|E13 E8 4v N+3 48 710 27.0 79.0
B48 B34 3# N-1 ©vA -100 19.0 87.0|D19 D7 4v V+2 +¢K -480 42.0 64.0|D15 D14 4y N+3 &7 710 27.0 79.0
D9 D11 1¢ V+2 a2 -110 14.0 92.0(B31 B33 4vy V+2 46 -480 42.0 64.0|Al6 Al 4v N+3 &4 710 27.0 79.0
D13 D10 3¢ V= 42 -110 14.0 92.0|B38 B49 4v V+2 +¢K -480 42.0 64.0|D19 D2 5vS+2 42 710 27.0 79.0
Ald A2 2v O= #A -110  14.0 92.0(B41 B50 4y V+2 &7 -480 42.0 64.0|B47 B41 4v S+3 42 710 27.0 79.0
Cl C14 INO+1 &A -120  10.0 96.0 (B44 B42 4y V+2 &T -480 42.0 64.0| A5 Al2 4v N+2 &5 680 9.0 97.0
D3 D22 2v O+1 #A -140 5.0 101.0 (B45 B36 4y V+2 &7 -480 42.0 64.0| D7 D18 4v N+2 &6 680 9.0 97.0
G3 G4 2v O+1 #A -140 5.0 101.0 |B46 B32 4v V+2 +K -480 42.0 64.0| C2 Cl4 4v S+1 ¢A 650 5.0 101.0
F8 F11 2v O+1 &A -140 5.0 101.0 |B47 B40 4vy O+2 ¢4 -480 420 640| C5 C9 4v S+1 ¢A 650 5.0 101.0
El4 E2 3v O= A -140 5.0 101.0 (B48 B34 4y V+2 49 -480 42.0 64.0|B46 B33 54 N+2 &5 640 2.0 104.0
F9 F5 INO+2 &A -150 0.0 106.0 B35 B39 6y V= &2 -980 0.0 106.0 |C15 C1 6vDS-1 ¢A -200 0.0 106.0
- C15 57.7 - C15 57.7 |C10 - 30.8
D18 - 56.5 D18 - 56.5 D17 - 59.2
B37 - 31.8 B37 - 31.8 - B38 48.1
16 « EKD876 Basta kontrakt 17 4 D82 Basta kontrakt 18 49865 Basta kontrakt
Vast v Kn2 2NT N =120 Nord v D6 5NT O =-460 Ost v EDS8 44 O =-420
ov + 106 Ingen + K76 NS ¢+ E54
&#Kn94 & ¢ v & NT 107642 & ¢ v & NT #Kn108 & ¢ v & NT
a2 & Kn1095 N9 558 8 & K5 #EKN10743 N 3 5 7 2 2 « KDKn42 «E103 N4 67 36
v108643 v D97 S95588 v E943 vKn S35722 v 752 v 64 S467 36
¢87532 ¢ EKKn 047 845 ¢ DKn104 ¢53 O 107 6 1111 ¢ Kn7 + KD98 087 6 107
K8 D107 V47 844 &DKn3 &#EK85 V 107 6 1111 &742 &#EK95 V8 7 6 107
443 496 a7
v EK5 v K108752 v KKn1093
+ D94 + E982 + 10632
#E6532 &9 D63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E9 E12 44DN= ¢A 590 106.0 O0.0|F10 F1 3NV-2 6 100 106.0 0.0| C4 C7 44 V-2 #J 100 103.0 3.0
F13 F8 3NN+2 &8 460 1040 20| A4 Al4 44 O-1 29 50 990 70 F8 F3 3NO-2 9 100 103.0 3.0
C2 Cl4 44 N= oA 420 970 90| E5 E6 3NV-1 vQ 50 99.0 7.0(F11 F7 3¢ O-2 &7 100 103.0 3.0
E7 E2 44 N= ¢A 420 97.0 9.0( C6 C10 44 O-1 &9 50 99.0 7.0(C14 C3 3NO-2 J 100 103.0 3.0
G7 G1 44 N= ¢A 420 97.0 9.0|A18 Al12 44 O-1 +A 50 99.0 7.0| E5 E6 44 O-1 &3 50 94.0 120
G8 G3 44 N= ¢A 420 97.0 9.0(B48 B36 44 O-1 &9 50 99.0 7.0(A13 A9 340-1 a7 50 94.0 12.0
E1l E1 44 N= ¢J 420 97.0 9.0(B50 B31 44 O-1 9 50 99.0 7.0[Al5 A10 44 V-1 &J 50 94.0 12.0
B45 B37 44 N= ¢A 420 97.0 90(E10 E1 2vy N-1 &J -50 91.0 15.0|Al18 Al2 44 O-1 &6 50 94.0 12.0
Al6 Al 14 O-3 vA 300 90.0 16.0({D18 D2 3v S-1 &K -50 91.0 15.0|D21 D9 44 V-1 ©vA 50 94.0 12.0
A5 Al2 3v V-2 &A 200 88.0 18.0|E12 E2 3#0= 49 -110 88.0 18.0( C6 C10 INO= *3 -90 85.0 21.0
A2 A10 34 N= ¢K 140 81.0 25.0|D14 D13 24 O+1 9 -140 86.0 20.0|D14 D13 INO= 3 -90 85.0 21.0
F7 F2 24 N+1 ¢A 140 81.0 25.0| D7 D17 34 V+1 49 -170 820 24.0(C15 C2 INO= vJ -90 85.0 21.0
E10 E6 34 N= ¢A 140 81.0 25.0| F8 F3 24 O+2 49 -170  82.0 24.0(B33 B35 INO= v3 -90 85.0 21.0
Cl15 C1 34 N= ¢A 140 81.0 250 (F12 F2 34 O+1 ¢A -170  82.0 24.0|E10 E1 1a V+1 &J -110 78.0 28.0
D20 D8 34 N= ¢A 140 81.0 250| F4 F14 44 O= v8 -420 620 440(|F12 F2 24 O= +3 -110 78.0 28.0
B31 B44 24 N+1 ¢A 140 81.0 25.0| D5 D12 44 O= 49 -420 62.0 44.0|D18 D2 24 V= ¢A -110 78.0 28.0
C3 C6 24 N= v7 110 720 34.0| A8 A7 44 O= +A -420  62.0 44.0| G4 G5 34 V= ©vA -140 65.0 41.0
F9 F12 24 N= ¢K 110 720 340 G9 G6 44 O= &9 -420 620 440( E8 E3 24 O+l ¥9 -140 65.0 41.0
F14 F3 24 N= ¢K 110 72.0 34.0(D10 D11 44 O= &9 -420 620 440| G8 G3 24 O+1 vJ -140 65.0 41.0
C5 C9 2vV-1 A 100 67.0 39.0(Cl1l Cl1 44 O= &9 -420 62.0 44.0|D10 D11 24 V+1 v8 -140 65.0 41.0
Al5 A9 3v V-1 «A 100 67.0 39.0(F11 F7 44 O= &9 420 62.0 440(F10 F1 24 V+1 +A -140 65.0 41.0
D3 D21 3NS-1 3 -50 440 62.0|C13 C9 44 O= 49 -420 62.0 440 |E11 E7 24 O+1 vJ -140 65.0 41.0
C4 Cl1 464 N-1 w7 -50 440 62.0|F13 F9 44 O= 49 -420 62.0 44.0|E12 E2 24 V+1 & -140 65.0 41.0
D4 D11 44 N-1 +A -50 440 62.0|A15 AL0 44 O= &9 420 62.0 440 |Al6 A2 34 V= &J -140 65.0 41.0
E4 E5 464 N-1 ¢A -50 440 62.0|C15 C2 44 O= 49 -420 62.0 44.0(D20 D3 34 V= 45 -140 65.0 41.0
F4 F5 44 N-1 ¢K -50 440 62.0[Al6 A2 44 O= 49 -420 62.0 44.0|B49 B40 34 O= T -140 65.0 41.0
G4 G5 44 N-1 +A -50 440 62.0|A17 A5 44 O= &9 420 62.0 44.0( G2 G10 24 O+2 T -170 38.0 68.0
D5 D13 44 N-1 +A -50 44.0 62.0|D20 D3 44 O= 49 -420 62.0 44.0( A3 All 24 O+2 ¥3 -170 38.0 68.0
D6 D16 44 N-1 +A -50 440 62.0(D21 D9 44 O= 49 -420 62.0 44.0| D4 D22 24 O+2 3 -170 38.0 68.0
A7 A6 44 N-1 <A -50 440 62.0|B33 B35 44 O= +¢A -420 62.0 440| E4 E14 24 O+2 v9 -170  38.0 68.0
G9 G6 44 N-1 w7 50 44.0 62.0(B49 B40 44 O= &9 -420 620 440| F5 F6 34 O+1 v9 -170 38.0 68.0
F10 F6 34 N-1 K -50 44.0 62.0| D6 D15 3NV+1 vQ -430 42.0 64.0| D7 D17 24 O+2 vJ -170 38.0 68.0
All A18 44 N-1 +A 50 440 62.0|A13 A9 3NV+l &4 430 420 64.0( AB A7 24 O+2 +A -170 38.0 68.0
F11 F1 44 N-1 +¢A -50 440 62.0|C14 C3 3NV+l v6 -430 42.0 64.0( D8 D19 24 O+2 ¥J -170 38.0 68.0
C1l3 C8 44 N-1 +A -50 440 62.0| A3 All 44 O+1 49 -450 240 820 G9 G6 24 O+2 v3 -170 38.0 68.0
Al4 A3 3NS-1 3 50 440 620| C4 C7 44 O+1 &9 -450 24.0 82.0(C13 C9 24 O+2 ¥9 -170 38.0 68.0
E14 E3 464 N-1 ¢K -50 44.0 62.0| D4 D22 44 O+1 %9 -450 24.0 82.0(E13 E9 24 O+2 ¢3 -170 38.0 68.0
D15 D14 44 N-1 +¢A -50 440 62.0| E4 E14 44 O+1 49 -450 24.0 82.0|Cl6 C8 24 O+2 #Q -170 38.0 68.0
Al7 A4 44 N-1 <A 50 440 620| G4 G5 44 O+1 9 -450 24.0 82.0(B37 B4l 24 O+2 T -170 38.0 68.0
D19 D2 44 N-1 +¢A -50 440 620| F5 F6 44 O+1 9 -450 24.0 82.0(B44 B32 24 O+2 T -170 38.0 68.0
B36 B40 44 N-1 K 50 440 620 G7 G1 44 O+1 49 -450 24.0 82.0|B46 B34 24 O+2 T -170 38.0 68.0
B46 B33 44 N-1 +¢A -50 44.0 62.0| D8 D19 44 O+1 %9 -450 24.0 82.0(B47 B42 24 O+2 T -170 38.0 68.0
C7 Cl16 44 N-2 ¢A -100 150 91.0( E8 E3 44 O+l &9 -450 24.0 82.0(B48 B36 24 O+2 ¥9 -170 38.0 68.0
D7 D18 44 N-2 +A -100 15.0 91.0 |E11 E7 44 O+1 9 -450 24.0 82.0| G7 Gl 24 O+3 +¢9 -200 20.0 86.0
A8 Al3 44 N-2 +A -100 150 91.0(E13 E9 44 O+l ¥2 -450 240 820 A6 Al 3NO= vJ -400 17.0 89.0
D9 D22 44 N-2 +A -100 15.0 91.0 (B37 B4l 44 O+1 &9 -450 24.0 82.0(B50 B31 3NO= vJ -400 17.0 89.0
B32 B34 44DN-1 ¢A -100 15.0 91.0|B38 B45 44 O+1 &9 450 24.0 82.0| A4 Ald 4e V= &] -420 7.0 99.0
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B39 B49 44 N-2 ¢K -100  15.0 91.0 (B44 B32 44 O+1 &9 -450 240 82.0( F4 Fl14 44 O= ¥9 -420 7.0 99.0
B47 B4l 44 N-2 ¢K -100  15.0 91.0|B46 B34 44 O+1 +¢8 -450 24.0 82.0| D5 D12 44 O= &7 -420 7.0 99.0
B48 B35 3NS-2 T -100  15.0 91.0| G2 G10 3NO+2 2 -460 5.0 101.0| D6 D15 44 O= ¢3 -420 7.0 99.0
G2 G10 3NS-3 v4 -150 4.0 1020| A6 Al 3NV+2 vQ -460 5.0 101.0|C11 Cl1 44 O= &6 -420 7.0 99.0
D10 D12 3NS-3 T -150 4.0 102.0|C16 C8 3NV +2 &6 -460 5.0 101.0 |F13 F9 44 O= &7 -420 7.0 99.0
B50 B42 3NS-3 T -150 4.0 102.0 |B47 B42 3NV +2 &7 -460 5.0 101.0 |A17 A5 44 O= vJ -420 7.0 99.0
E13 E8 44DN-2 ¢A -300 0.0 106.0| G8 G3 44 O+2 &9 -480 0.0 106.0 |B38 B45 44 O= +¢38 -420 7.0 99.0
Cc10 - 30.8 C5 - 47.9 C5 - 47.9
D17 - 59.2 D16 - 53.6 D16 - 53.6
- B38 48.1 | B39 - 57.9 B39 - 57.9
19 «E74 Basta kontrakt 20  E52 Basta kontrakt 21 464 Basta kontrakt
Syd vD10873 34 V =-140 Vast v3 44 N D -1-200 Nord v Kn10976 2NT O =-120
oV ¢ 32 Alla + D97542 NS + Kn9654
S»E87 & ¢ v & NT #963 & ¢ v & NT &5 & ¢ v & NT
4 D8652 4109 N3 3645 D74 a3 N3 45914 4 KKn3 #1097 N486 65
v EK4 v Kn S33645 v E52 v DKn64 S34594 v EK4 v D853 S 48665
¢E5 +DKn10964 O 109 7 9 7 ¢ EKKn6 ¢ 1083 O 109 8 4 7 +73 + 1082 O0O9576 8
&#Kn62 #KD54 vV 109 7 9 7 &#KDKn #E8754 V 109 8 4 9 &#E9832 &#KD7 V9576 8
& KKn3 & KKn10986 « ED852
v 9652 v K10987 v2
+ K87 ¢- + EKD
#1093 &102 #Kn1064
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F9 F4 3NO-3 v2 300 106.0 0.0|C14 C4 5¢DV-3 4A 800 105.0 1.0|B49 B42 34DV -3 46 500 106.0 0.0
E9 E4 34V-2 ¢3 200 100.0 6.0|A18 Al 4vDV-3 «A 800 105.0 10| D2 D16 2y O-3 ¢A 150 103.0 3.0
E11l E2 2NO-2 +¢7 200 100.0 6.0| A4 Al2 4vDV-2 ¢7 500 100.0 6.0|B35 B37 3NV-3 &6 150 103.0 3.0
Al3 A10 2NO-2 v2 200 100.0 6.0 A9 A8 4vDV-2 «A 500 1000 6.0 C1 C3 24 S+1 vA 140 100.0 6.0
D17 D2 24 V-2 43 200 100.0 6.0|B34 B36 4v O-5 «&T 500 100.0 6.0| G3 G10 24 S= vA 110 96.0 10.0
B49 B41 5¢ O-2 ¢9 200 100.0 6.0 F6 F7 4NV-4 42 400 96.0 10.0(F13 F11 24 N= +7 110 96.0 10.0
Cll C7 2¢y N= «T 110 92.0 140 D9 D20 5v O-3 «J 300 93.0 13.0(Al7 A7 24 S= vA 110 96.0 10.0
Cl1l3 C10 2vy N= 49 110 920 140(F11 F2 3NV-3 ¢2 300 93.0 130 F1 F9 4a4V-2 +J 100 87.0 19.0
B48 B37 2v N= T 110 920 140 F1 F3 3NV-2 49 200 86.0 20.0| F2 F4 INV-2 &4 100 87.0 19.0
D7 D16 2NV-1 7 100 86.0 20.0| G8 G2 3NV-2 &2 200 86.0 20.0| C5 Cl14 3#DV-1 46 100 87.0 19.0
E12 E8 INO-1 ¢9 100 86.0 20.0 A1l A15 3NV-2 +¢5 200 86.0 20.0|/E10 E5 3NDV-1 6 100 87.0 19.0
B47 B31 34 V-1 #A 100 86.0 20.0|A16 A3 540-2 4«9 200 86.0 20.0|C16 Cl10 4&V-2 &4 100 87.0 19.0
A9 A8 INO= ¥2 -90 81.0 25.0|B48 B37 3NV-2 ¢4 200 86.0 20.0|B32 B47 3#DV-1 46 100 87.0 19.0
G9 G7 INO= 2 -90 81.0 25.0|F13 F10 24 S+1 ¢A 140 80.0 26.0| D6 D13 14 S= 43 80 80.0 26.0
A4 Al2 3vy N-2 T -100 73.0 330|E11 E2 24 S= ¢A 110 78.0 28.0(D10 D21 34 0-1 +A 50 74.0 32.0
F6 F7 3vy N-2 &9 -100 73.0 33.0| D6 D14 2NV-1 &2 100 730 330(F12 F3 2#V-1 46 50 74.0 32.0
All A15 2v N-2 49 -100 73.0 330|F12 F8 3NV-1 5 100 73.0 33.0({D22 D5 2v O-1 +A 50 74.0 32.0
F12 F8 3vy N-2 oT -100 73.0 33.0(D17 D2 3NV-1 +2 100 73.0 33.0(B39 B31 2v O-1 +A 50 74.0 32.0
Al7 A6 3vy N-2 &T -100  73.0 33.0|B38 B42 3NO-1 4K 100 73.0 33.0(B44 B34 3v O-1 +A 50 74.0 32.0
D19 D3 3v N-2 49 -100  73.0 33.0|C13 C10 2NV = *4 -120 68.0 38.0| G1 G4 INV= 46 -90 63.0 43.0
Cl4d C4 34V= 92 -110 65.0 41.0| C9 C16 2NV +2 +4 -180 65.0 41.0( D7 D15 24 V= 46 90 63.0 43.0
B33 B44 3¢ O= 43 -110 65.0 41.0|D22 D10 2¢DV= v3 -180 65.0 410|F10 F5 INO= +¢A -90 63.0 43.0
C5 C8 2NV= v3 -120 62.0 44.0|D19 D3 44DS-1 ¢A -200 62.0 44.0|D12 D11 24V = 46 -90 63.0 43.0
C3 C15 3¢ O+1 2 -130 54.0 52.0|Cl11 C7 44DS-2 vA -500 59.0 47.0|C13 Cl11 2#V= 46 90 63.0 43.0
F5 F14 4¢ O= v2 -130 54.0 52.0|D21 D4 34DS-2 ¢A -500 59.0 47.0|B50 B33 2&#V= 46 -90 63.0 430
D6 D14 3¢ O+1 &T -130 54.0 52.0| G3 G10 3NV= *7 -600 43.0 63.0| C6 C9 34S-1 vA -100 54.0 52.0
C9 C16 2¢ O+2 &T -130 54.0 520 C5 C8 3NV= *2 -600 43.0 63.0| F7 F8 24 S-1 &A -100 54.0 52.0
D13 D12 4¢ O= ¥5 -130 54.0 52.0| D5 D11 3NV = ¢5 -600 43.0 63.0(D18 D3 34 S-1 ¥vA -100 54.0 52.0
D21 D4 4¢ V= ¥5 -130 54.0 520| G5 G6 3NV= &A -600 43.0 63.0( E1 E9 2vO= &2 -110 39.0 67.0
B38 B42 3¢ O+1 v9 -130 54.0 520| E6 E7 3NV= *2 -600 43.0 63.0| C4 C15 24 O+1 46 -110 39.0 67.0
F1 F3 24 V+1 ¢8 -140 42.0 640 A7 A2 3NV= a2 -600 43.0 630 A5 Al 3#V= v6 -110 39.0 67.0
G3 G10 24 V+1 +¢3 -140 42.0 64.0| D7 D16 3NV = +5 -600 43.0 63.0| G5 G6 3#V= 46 -110 39.0 67.0
D5 D11 34 V= w7 -140 42.0 64.0| D8 D18 3NV = *2 -600 43.0 63.0| C7 C2 3#V= 46 -110 39.0 67.0
D9 D20 24 V+1 +3 -140 420 640|E12 E8 3NV-= *2 -600 43.0 63.0| D8 D17 3#V= 46 -110 39.0 67.0
D22 D10 24 V+1 97 -140 42.0 64.0|D13 D12 3NV = +5 -600 43.0 63.0(E12 E3 24V +1l 46 -110 39.0 67.0
Gl G4 44 V+1l +8 -150 32.0 74.0|A17 A6 3NV= *2 -600 43.0 63.0|E14 E6 24V +1l 46 -110 39.0 67.0
D8 D18 3¢ O+2 %3 -150 32.0 74.0|B45 B39 3NV-= v3 -600 43.0 63.0|F14 F6 3«V= ¢J -110 39.0 67.0
G8 G2 3vy N-3 oT -150 32.0 74.0|B49 B41 3NV = *4 -600 43.0 63.0(Al6 A4 24V +1l 46 -110 39.0 67.0
Al8 Al 3vy N-3 &T -150 32.0 74.0|B50 B32 3NV= *2 -600 43.0 63.0(Al18 A2 24V +1l 46 -110 39.0 67.0
B45 B39 2v N-3 9 -150 320 740| E1 E3 3NV+1 +9 -630 15.0 91.0|B46 B36 3#V= 46 -110 39.0 67.0
A5 Al4 INO+3 &T -180 220 84.0| G1 G4 3NV+l1l +5 -630 15.0 91.0| A8 A3 2NV= 46 -120 21.0 85.0
G5 G6 2NV +2 @7 -180 22.0 84.0| C3 C15 3NV+1 +2 -630 15.0 91.0| D9 D19 2NV = vlJ -120 21.0 85.0
E13 E10 INO+3 &J -180 22.0 84.0| A5 Al4 3NV +1 +2 -630 15.0 91.0|Al12 Al5 INV+1 #J -120  21.0 85.0
Al6 A3 2NV +2 w7 -180 22.0 84.0| E5 E14 3NV +1l &2 -630 15.0 91.0|A14 A6 2NV = v)J -120 21.0 85.0
B35 B46 2NV +2 ¢3 -180 22.0 84.0| F5 F14 3NV +1 +2 -630 15.0 91.0(D20 D4 1INV +1l &4 -120 21.0 85.0
El1 E3 3NV= vT -600 13.0 93.0| C6 C1 3NV+1l ¢2 -630 15.0 91.0|B48 B38 INO+1 +¢A -120 21.0 85.0
E6 E7 3NV= v3 -600 13.0 93.0| E9 E4 3NV+l1l +2 -630 15.0 91.0| G8 G2 INV+2 vJ -150 13.0 93.0
A7 A2 3NV= v3 -600 13.0 93.0| F9 F4 3NV+1l &A -630 15.0 91.0| G9 G7 INV+2 46 -150 13.0 93.0
F13 F10 3NV = v7 -600 13.0 93.0| G9 G7 3NV+1l ¢5 -630 15.0 91.0| E7 E8 1INV +3 46 -180 10.0 96.0
E5 E14 3NV +1 &7 -630 7.0 99.0|E13 E10 3NV+1 5 -630 15.0 91.0|A10 A9 44DS-1 vA -200 7.0 99.0
F11 F2 3NV+1 ¢3 -630 7.0 99.0(B33 B44 3NV +1 5 -630 15.0 91.0|Al13 All 2NS-2 %3 -200 7.0 99.0
B34 B36 3INO+2 &T -660 4.0 102.0|B35 B46 3NV +1 42 -630 15.0 91.0|E13 E11 34 S-3 YA -300 4.0 102.0
B50 B32 3NV +3 ¢3 -690 2.0 104.0 |B47 B31 3NV+1 ¢7 -630 15.0 91.0| E2 E4 44 S-4 ©vA -400 2.0 104.0
C6 Cl 4vyDN-4 oT -800 0.0 106.0 [A13 A10 3NV +2 5 -660 0.0 106.0 |B40 B45 24D S-2 vA -500 0.0 106.0
- D15 52.5 - D15 52.5 - D14 61.1
- C2 66.9 - C2 66.9| C8 - 60.6
- B40 43.7 - B40 43.7 | B41 - 61.5
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22 & Kn6
Ost v KD106
ov + DKn74
&E64
«D & K10874
v94 vE75
¢ E109832 ¢ K65
&#KKn83 &72
4 E9532
v Kn832
’ -
#D1095
Par Kontr Ut
C5 Cl14 4¢DV-2 vK
E10 E5 24DO-2 v2
F12 F3 3NO-3 ¥2
Cl6 C10 24 V-2 &J
A8 A3 3v N+1 &4
D18 D3 INS+2 +4
G6 G7 3vyN= +¢K
F7 F8 2v N+1 K
E14 E6 34 N= ¢A
A5 Al 2y N= &7
D6 D13 3¢ S= vT
D22 D5 14 N+1 &5
El E9 2¢ V-1 T
G4 G10 3¢ O-1 vK
C6 C9 2¢ V-1 &I
D7 D15 3v V-1 45
E12 E3 24 O-1 &5
D10 D21 2¢ S= K
Al7 A7 INS= «Q
B35 B37 INN= vA
Cl C3 4vS-1 «Q
F2 F4 3v N-1 +¢K
C7 C2 24 S-1 ¢A
A10 A9 3NN-1 +¢K
F10 F5 2v N-1 &7
Al2 A15 2v N-1 &7
D12 D11 2¢ S-1 &1
E13 E11 3vy N-1 &7
F13 F11 4v N-1 &7
Ald A6 3v N-1 &7
F14 F6 2v N-1 &7
Al6 A4 2NS-1 +8
Al8 A2 3v N-1 &7
B39 B31 3vy N-1 &2
B40 B45 3vy N-1 ¢4
B46 B36 3v S-1 T
B49 B42 3v N-1 46
E2 E4 14 O= 2
F1 F9 2¢ V= T
G2 G5 2¢ V= vK
E7 E8 2¢ V= &)
D2 D16 34 N-2 &5
Al3 A1l 3NN-2 K
B32 B47 34 S-2 ¢A
B44 B34 3vy N-2 &7
B48 B38 2NN-2 +¢K
C4 C15 3¢ O= vK
D9 D19 3a4V= +¢K
Cl1l3 C11 2¢ V+1 46
D20 D4 2v V= &8
B50 B33 2¢ V+1 ¢vK
D8 D17 2y V+1 &7
Gl G3 3NN-3 +¢5
G9 G8 3vyDN-2 &7
- D14
Cc8 -
B41 -

Basta kontrakt

3v SD-1-100
& ¢ v & NT
N7 4876
S7 4876
O6 9566
V6 9566

Res Poang
500 105.0 1.0
500 105.0 1.0
300 102.0 4.0
200 100.0 6.0
170 98.0 8.0
150 96.0 10.0
140 92.0 14.0
140 92.0 14.0
140 92.0 14.0
110 86.0 20.0
110 86.0 20.0
110 86.0 20.0
100 78.0 28.0
100 78.0 28.0
100 78.0 28.0
100 78.0 28.0
100 78.0 28.0
90 70.0 36.0
90 70.0 36.0
90 70.0 36.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-50 50.0 56.0
-80 32.0 74.0
-90 28.0 78.0
-90 28.0 78.0
-90 28.0 78.0
-100 20.0 86.0
-100  20.0 86.0
-100 20.0 86.0
-100 20.0 86.0
-100 20.0 86.0
-110 10.0 96.0
-110 10.0 96.0
-110 10.0 96.0
-110 10.0 96.0
-110 10.0 96.0
-140 4.0 102.
-150 2.0 104.0
-300 0.0 106.0
61.1

60.6
61.5

23
Syd
Alla

48
vKD10985 vE
¢ D42

#DKn4

Par

E3
Gl
C2
G2

ES

& KKn5

v Kn432

+83

SEK72
109743

4 109765
#8386
& ED62
v76
¢ EKKn
#10953

Kontr

3N N +2
3NN +1
3N N +1
3N S +1
3NN +1

3N
3
3
3

NN W
<ezz222
O0zzzz=z
<<uuwnunun
(LN

N
<
<
NS

34

)
P4

20
+ +
[RAYN

3% S +2
3& S +2
2N N +1
24 S+1
24 S+1
264 S +1
38 S+1
2& N +2
4% S =
38 S+1
3& S +1
38 N +1
38 S+1

INN+1

N
»
+ 10 1n
h

([l
4
Q

3%

N
Z<<
Jnnnnznnnz<<<nnnnnn
RSN TRUNCNN
>
[6)]

NRRRPRRRPR

Basta kontrakt
5NT S =660
& ¢ v & NT
N 117 7 9 10
S 117 8 9 11
025542
V25542
Res Poang
660 106.0 0.0
630 100.0 6.0
630 100.0 6.0
630 100.0 6.0
630 100.0 6.0
630 100.0 6.0
620 94.0 12.0
600 87.0 19.0
600 87.0 19.0
600 87.0 19.0
600 87.0 19.0
600 87.0 19.0
600 87.0 19.0
200 78.0 28.0
200 78.0 28.0
200 78.0 28.0
170 74.0 32.0
150 69.0 37.0
150 69.0 37.0
150 69.0 37.0
150 69.0 37.0
140 62.0 44.0
140 62.0 44.0
140 62.0 44.0
130 49.0 57.0
130 49.0 57.0
130 49.0 57.0
130 49.0 57.0
130 49.0 57.0
130 49.0 57.0
130 49.0 57.0
130 49.0 57.0
130 49.0 57.0
130 49.0 57.0
120 38.0 68.0
110 31.0 75.0
110 31.0 75.0
110 31.0 75.0
110 31.0 75.0
110 31.0 75.0
110 31.0 75.0
100 220 84.0
100 22.0 84.0
100 22.0 84.0
90 18.0 88.0
-100  10.0 96.0
-100 10.0 96.0
-100 10.0 96.0
-100  10.0 96.0
-100 10.0 96.0
-100 10.0 96.0
-100  10.0 96.0
-200 2.0 104.0
-800 0.0 106.
36.6
43.3
40.1

24
Vast
Ingen

& Kn6

v K987

+ K854

&#Kn43
& EK532 410987
vDKn vE64
¢+ DKn3 ¢ E976
#ED6 »82

s D4

v 10532

+ 102

#K10975

Kontr

24 V +4
3e4 V+3
3a4 V+3
24 V +4
1le V +6
4e V =
3NV +1
3NV +1
4e V +1
4a V +1
4e V +1
4e V +1
3N O +2
4a V +2
4 V +2
4a V +2
4a V +2
4 V +2
4a V +2
4a V +2
4 V +2
4a V +2
4a V +2
4 V +2
4a V +2
4a V +2
4 V +2
4a V +2
4a V +2
3NV +3
44 V +3
4a V +3
4e V +3
44 V +3
4a V +3
44 V 43
44 O +3
4a V +3
4e V +3
44 V +3
4a V +3
4e V +3
44 V +3
4a V +3
4e V +3
44 V +3
4a V +3
4e V +3
44 V +3
4a V +3
4e V +3
44 V +3
4a V +3
3NV +4

Par

D10 D20
Al4 A7
Al5 Al
C15 C5
D2 D15
Al7
E3
F14

C16
C13 -
D13 -
B42 -

Basta kontrakt

INTV =-1520
& ¢ v & NT
N40400
S40400
O 9 139 1313
V 9 139 1313
Res Poang
-230 103.0 3.0
-230 103.0 3.0
-230 103.0 3.0
-230 103.0 3.0
-260 98.0 8.0
-420 96.0 10.0
-430 93.0 13.0
-430 93.0 13.0
-450 87.0 19.0
-450 87.0 19.0
-450 87.0 19.0
-450 87.0 19.0
-460 82.0 24.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-480 65.0 41.0
-490 48.0 58.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-510 24.0 82.0
-520 0.0 106.0
36.
43.3
40.1
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